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#include<iostream>
#include<cstdio>
#include<algorithm>
#include<cstring>
#define 11 long long
using namespace std;
int read

int k=0,f=1;char c=getchar();
;1isdigit(c);c=getchar =="'-"') f=-
;isdigit(c);c=getchar k=k*10+c-'0"; k*f;

const int N= ;
int T,n,m,a/N|,pos|N ,basel[N ,Base ,Pos
void build(int p,int x
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int i=29;i>=0;1i--
x&(1<<i
'Base| 1
Baseli|=x,Pos|[i!=p;
’
p>Pos i
swap(p,Pos|i]),swap(x,Baselil);
x~=Base[1il];
int main

T=read();T;T--

memset (Base,0,sizeof (Base) ) ;
memset (Pos,0,sizeof(Pos));
n=read();m=read();

int i=1;i<=n;i++

alil=read();

int i=1;i<=n;i++

build(i,alil);
int j=0;j<=29;j++
basel[i||j|=Baselj|,pos/il[j!=Pos|j!;

int lans=0;
int i=1;i<=m;i++

int 1,r,opt;
opt=read();
lopt

1l=(read()”lans)%n+1;
r=(read()”lans)%n+1;
1>r) swap(l,r);
int ans=0;
int j=29;j>=0;]--

pos/riljl>=1
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ans”™base/r]|[jl)=ans
ans=ans”base(r|[j;

printf("%d\n",lans=ans);

l=read()"lans;
n++;alni=1;
build(n,aln!);

int j=0;j<=29;j++

base/n|[j|=Baselj|,posin]|[jl=Pos|j

.
’

D Vacation

solved by wxg

g

O¢$n$0000000000OC00O0ODOOO0O00ODO0O0O0ODODOO0ODODOOOODOOO0ODOOD

dobooobbooobboonoboa

HEN

0000000000000 000000D000000000 $x$00000 $x$000000000O0O

goooooogo

#include<iostream>
#include<cstdio>
#include<cstring>
#include<algorithm>
using namespace std;
int read

int k=0,f=1;char c=getchar

;isdigit(c);c=getchar c=="-

;isdigit(c);c=getchar k=k*10+c-'0";

f*k;

const int N= :
int n,m,UIN!,s[NJ,vINI;
int main
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scanf("%d",&n) '=EOF

int i=0;i<=n;i++
scanf("%sd",&L[1]);
int i=0;i<=n;i++
scanf("%d",&s[1i]);
int i=0;i<=n;i++
scanf("%sd",&v /|1
double ans=1.*s[0]/v
int i=1;i<=n;i++

@) =

, sum=0;
sum+=1[1i];
ans=max(ans, ((sum+s[i])/v|[i ;
printf("%.8f\n",ans);

0;

E Path

00O by fyh Qwritten by wxg

HEN

O0000DOOo0o00oOooO0oOoDooOodOo sin$d000DOOOoO0OoOOOOOOoD

ggd

dddddoooouoooooooogoao

#include<iostream>
#include<cstdio>
#include<algorithm>
#include<cstring>
#include<queue>
#define 11 long long
#define int long long
using namespace std;
int read

int k=0,f=1;char c=getchar();
;1isdigit(c);c=getchar =='-"') f=-1;
;isdigit(c);c=getchar k=k*10+c-'0"; k*f;
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const int N= ;

const 1l inf=111<<60;

typedef pair<int,int> P;

int T,n,m,s,t;

int tot=1,iter[N],head[N],to[N],nextt[N],w[N]|,d[N]|,vis|[N];
queue<int> q;

struct graph

int tot=0,to[N!,nextt(N]|,head/N|,w[N]|;

int u/N!,vI[N!,c[NI;

11 dis[N];

priority queue <P,vector<P>,greater<P> > q;
void add(int a,int b,int ¢

to|++tot|=b;
w|tot]|=c;
nextt|/tot!=head|al;
head a|=tot;

void dij

int i=2;i<=n;i++
dis[i]=111<<60;
dis =0;
g.push(P(0, ;
Iq.empty

P k=q.top();q.pop();
int u=k.second; dis|ul<k.first ;
int i=head[u];i;i=nextt[i
dis/toli] />dis/ul+w/i

dis/toli] /=dis|ul+w/i];
g.push(P(dis(to[i]],toli ;

G;
void add(int a,int b,int c

to/++tot|=b;
w|tot|=c;
nextt|tot|/=headlal;
head[a|=tot;

bool bfs
int i=1;i<=n;i++) d[il=-1;

d[s|=0;q.push(s);
Iq.empty
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int u=q.front();q.pop();
int i=head/ul;1i;i=nextt|i
wiil>0&8&d to[1] |==-
dlto[i]|=d[u]+1,qg.push(to[i]);
dit]!=-1;

int dfs(int u,int f

——] | |u::t f;
int &i=iter|ul;i;i=nextt[i

dito/i] |==d/ul+1&8&w/[i]>

int ff=dfs(to/i],min(f,w[1 ;
ff>

wiil-=ff,w/ i1l +=ff;

ff;
int dinic
int fl1=0,f;
Ibfs fl;
int i=1;i<=n;i++
iter[il=head|i];
f=dfs(s,inf fl+=f;
fl;
main
T=read();T;T--
G.tot=0;
int i=1;i<=n;1i++
G.head[1]1=0;
int i=1;i<=tot:;i++
head[1]=0;
tot=1;

n=read();m=read();
int i=1;i<=m;i++

int a,b,c;
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a=read();b=read();c=read();
G.ulil=a;G.v[il=b;G.cl[i]=c;
G.add(a,b,c);

G.dij();
int i=1;i<=m;i++

G.dis|[G.u[i]]+G.c[i]==G.dis[G.v[1

add(G.ulil,G.v[i],G.cli]);
add(G.v[i!,G.ul1],0);

s=1;t=n;
printf("slld\n",dinic ;

0;

F Typewriter

solved by wxg

gd

oo UU o

1. 0¢$p$00000000O0ODO0OOODOOO
2.0 %q$0000000DO0O0O0O0ODODOOODODODOO
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dp[¢dplil$ D0 DOOOO $$ 000000 DOOOOOOOOO

1. $dpli]=dpli-1]+p$
2. $dplil=dpljl+q$ , $j$ O OO $s[1\ldotsjl$ O O O $s[j+1\ldotsil$ O O O

000 $$0000
0000 %is000%s 0000

O0D0D00O0 $s[INdotsjl$ OO DODODOOOdpO SIS OODODOODOODOOOOOO $sfil$, 00000
0¢$000000 ¢i$,00 $$0000000ODO0O0O $$0000ODOOODO

#include<iostream>
#include<cstdio>
#include<algorithm>
#include<cstring>
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#define 11 long long
using namespace std;
int read

int k=0,f=1;char c=getchar();
;1isdigit(c);c=getchar c=="'-"') f=-1;
;isdigit(c);c=getchar k=k*10+c-'0"; k*f;

const int N= ;

int n,m,ch[N ,mxlen,P,Q;

1l dp/N/;

int last,tot,link[N!,len[N],size[N];
char s[N];

void init

int i=0;i<=tot;i++) memset(ch[i],0,sizeof(ch|[i :
last=tot=0;len =0; link =-1;

void extend(int c

int cur=++tot,p=last;len/cur/=len|last|+1;sizelcur|=1;
;pl=-1&&!ch|plicl;p=link[p]) chiplicl=cur;
==- link|curl|=0;

int g=ch[plic]l;
len[pl+l==leniq link|[curl=q;

int clone=++tot;

len[clonel=len/pl+1;

link|clone|=link[q]l;

memcpy (ch[clone|,ch(ql,sizeof(chlq ;
;pl=-1&&ch(plicli==q;p=link(p
chlpllcli=clone;

link[g!=clone;link|curi=clone;

last=cur;

int get(int p,int c,int opt

chiplic

p=chipllc!;
opt==1) mxlen++;

p!=-1&&!chip]ic

https://wiki.cvbbacm.com/ Printed on 2025/08/16 05:20



2025/08/16 05:20 9/15

[2019 Multi-University Training Contest 1]

p=link|p];
p==- p=0,mxlen=0;
mxlen=len|[p!+1,p=chlplic];

opt mxlen;
p;
int main
scanf("%s",s+1)!=EOF
int l=strlen(s+1);
init();scanf("%d%d",&P,&Q);
int inslen=0,pos=0;mxlen=0;

int i=1;i<=1;1i++

dplil=dpli-11+P;
get(pos,s|il-'a',l)+inslen>=1

dplil=min(dp/i!,dplinslen/+Q);
pos=get(pos,sii/-'a',0);

get(pos,siil-'a',l)+inslen<i

extend(s|[++inslen]|-'a');

pos=get(pos,slil-‘a',0);
inslen<i
dplil=min(dp(i]|,dplinslen|+Q);

// cout<<inslen<<" "<<mxlen<<endl;

printf("slld\n", dp[l]);

| String

00 by hxm

gd

O0O0000O0o0O00oOoo0Uo0oDooOo0OoDooOogsk$oopooooooooooooDooogo

0000000000000 00000OO0S[LRISO
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g

000 0000000000000 000000O000oDoosistooDdsas0nono0gszs0dg
0000000000000 000D0O0O000DOCO000DoOoO00OoDOoOOoOooDsksOoDooono
0000000 1000000000000 000D$Ks 20000000000 DoOOoOoOnosLisy

gobooobooboooobooobbooobbuooobooobbooobobooobbooobobag
goo

ooy Ug o

#include<algorithm>
#include<iostream>
#include<cstdlib>
#include<cstring>
#include<cstdio>
#include<vector>
#include<queue>
#include<cmath>
#include<map>
#include<set>
#define LL long long int
#define REP(i,n) for (int i 1; 1 <= (n); i++)
#define Redge(u) for (int k = h[u],to; k; k = ed[k].nxt)
#define cls(s,v) memset(s,v,sizeof(s))
#define mp(a,b) make pair<int,int>(a,b)
#define cp pair<int,int>
using namespace std;
const int maxn = 100005,maxm = 100005,INF = Ox3f3f3f3f;
inline int read(){
int out = 0,flag = 1; char c¢ = getchar();
while (c < 48 || ¢ > 57){if (c == '-"') flag = 0; c = getchar();}
while (c >= 48 && ¢ <= 57){out = (out << 1) + (out << 3) + c - 48; c =
getchar();}
return flag ? out : -out;

}

vector<int> pos[26];

int pi[26],K,n;

int sum[maxn][26];

int cnt[maxn],L[maxn],R[maxn];

char s[maxn],ans[maxn];

void init(){
for (int i

cnt[il]

0; 1< 26; i++){
0; pos[i].clear(); pili]

Il
(o)

}
}
int main(){
while (~scanf("%s",s + 1)){
init();
K = read(); n = strlen(s + 1);

for (int i = 0; 1 < 26; i++) L[i] read(),R[1] = read();
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for (int 1 = 1; 1 <= n; i++){
int u = s[i] - 'a‘';
pos[u].push back(i);
for (int j = 0; j <
sum[i] [u]++;

26; j++) sum[i][j] = sum[i - 1][j];

}
//cout << sum[2][0] << endl;

int u = 1,tag = true;
for (int i = 1; i <= K; i++){
tag = false;
for (int j = 0; j < 26; j++){
//printf (" [%d,%d]\n",i,j);
if (cnt[j] >= R[j]) continue;
while (pi[j] < pos[j].size() && pos[jl[pil[jl] < u) pil[jl++;
if (pi[j] >= pos[j]l.size()) continue;
int tmp = 0;
//puts ("LXT");
for (int k = 0; k < 26; k++) tmp += min(R[k] -
cnt[k],sum[n][k] - sum[pos[jll[pil[jl] - 11[KIl);
if (tmp < K - i + 1) continue;
//puts ("LXT");
int flag = true; tmp = 0;
for (int k = 0; k < 26; k++){
if (sum[n][k] - sum[pos[jl[pil[jl] - 11[k] < L[k] -
cnt[k]) flag = false;
if (k '= j){
if (L[k] > cnt[k]) tmp += L[k] - cnt[K];
}
}
if (tmp > K - i) continue;
//puts ("LXT");
if (!flag) continue;
cnt[j]++;
ans[i] = j + 'a';
u=pos[jllpiljl++] + 1;
tag = true;
//puts("pick");

break;
}
if (!'tag) {puts("-1"); break;}
}
if (tag){
for (int 1 = 1; i <= K; i++) putchar(ans[i]);
puts("");
}
}
return 0;
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K Function

00 by fyh

gd

$$ 0 \sum_{i=1}"ngcd(\Ifloor~3\sqrt{i}\rfloor,i),n\leq10~ {21} $$

HEN

O0000O0oooooogs$s
\sum”™n_{i=1}gcd(\Ifloor™3\sqrt{i}\rfloor,i)=\sum_{i=1}"{\Ifloor™3\sqrt{n}\rfloor}\sum_{j=(i-1)"3+
1}~ {i~3}gcd(i,j)+\sum”™n_{i=\Ifloor™3\sqgrt{n}\rfloor~3}gcd(\Ifloor~3\sqrt{n}\rfloor,i) $$ OO O OO
O00000000%$\sum {i=1}"{n}gcd(i,a)$, $$
\sum_{i=1}"{n}gcd(i,a)=\sum_{x|a}x\sum~™n_{i=1}[gcd(i,a)==x]=\sum_{x|a}x\sum_{i=1}"{\Ifloo
Nfrac{n}{x}\rfloor}[gcd(i\frac{a}{x})==1] $$

$$

=\sum_{x|a}x\sum_{i=1}"~{\Ifloor\frac{n}{x}\rfloorH\sum_{k|gcd(i\frac{a}{x}) \mu(k)=\sum_{x|a}
x\sum_{k|\frac{a}{x} F\mu(k)\sum_{i=1}"~{\Ifloor\frac{n} {x}\rfloor}[k|i]=\sum_{x|a}x\sum_{k]|\frac
{a}{x} \mu(k)\Ifloor\frac{n} {xk}\rfloor $$

O$xk=d$,0000000 $$

\sum_{d|a}\Ifloor\frac{n}{d}\rfloor\sum_{x|d}x\mu(\frac{d} {x})=\sum_{d|a}\Ifloor\frac{n}{d}\rfloor
\phi(d) $$ O $\sum_{i=I}"~{r}gcd(i,a)=\sum_{d|a}(\Ifloor\frac{r}{d}\rfloor-
\Ifloon\frac{l-1}{d}\rfloor)\phi(d)$,0 00 0000000000000 OO0OOO0O
O0$0(~6\sqrt{n})$0 000 OO0

OO00D0DOo0oooopss
\sum_{i=1}"{\Ifloor™3\sgrt{n}\rfloor}\sum_{j=(i-1)~3+1}~{i~3}gcd(i,j)=\sum_{i=1}"~{\Ifloor"3\sq
rt{n}\rfloor}\sum_{d|i}(\Ifloor\frac{(i+1)"~3-1} {d}\rfloor-\Ifloor\frac{i~3-1}{d }\rfloor)\phi(d) $$
O$xd=i$,00000 $%
\sum_{d=1}"{\Ifloor”™3\sqrt{n}\rfloor}\phi(d)\sum_{x=1}"{\Ifloor\frac{\Ifloor”~3\sqrt{n}\rfloor-1}{d
Hrfloor}(\Ifloor\frac{(xd+1)"3-1} {d}\rfloor-\Ifloor\frac{(xd) "~ 3-1}{d }\rfloor)\phi(d) $$ DO O OO0 O O
ggs$suo0oooos$d-1s,0000000 $%
\sum_{d=1}"{\Ifloor~3\sqrt{n}\rfloor}\phi(d)\sum_{x=1}"{\Ifloor\frac{\Ifloor~3\sqrt{n}\rfloor-1} {d
I13dx7243x+1$$ 000 000000000000000

O $y=\Ifloor\frac{\Ifloor™3\sgrt{n}\rfloor-1} {d}\rfloor$,0 O $$
\sum_{d=1}"{\Ifloor™3\sqrt{n}\rfloor }\phi(d)d\frac{y(y+1)(2y+1)}{2}+\sum_{d=1}"{\Ifloor™3\sqr
t{n}\rfloor}\phi(d)(\frac{y(y+1)}{2}+y) $$ $sy$0 00 0000000000000 OOOODOOO

0 $0(~3\sqrt{n})$0 O O O $\sum \phi(i)i$O $\sum \phi(i)$,0 O O O $O(~{6}\sqrt{n})$0 0O O O O
O0D00000000000%$0("™3\sgrt{n}+"{6}\sqrt{n}*T)$

0000000 _intl28,000000000000IJ000O0O0OO0O

#include<bits/stdc++.h>
using namespace std;
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#define mem(a,b) memset(a,b,sizeof(a))
typedef long long LL;

typedef pair<int,int> PII;

#define X first

#define Y second

inline int128 read

_int128 x=0,f=1;char c=getchar();

lisdigit(c c=="'-"')f=-1;c=getchar();
isdigit(c) ) {x=x*10+c-'0"';c=getchar();
x*f;

_int128 n,ans;

const int MOD= ,maxN= ;
int
T,prime maxN+ ,Llen,A,sqrt3N, phimaxN+ ,phii[maxN+ ,pre maxN+ ,inv2=

’
bool vis|[maxN+ c
void calc

phi =1;phii =il g
int i1=2;i<=maxN;i++

lvis[i| )prime|++len|=i,phil[il=i-1;
int j=1;j<=len;j++

i*prime/|j |>maxN ;
vis|[i*primelj||=1;

i%primelj|==

phili*prime(j | =phi[i/*primej!;

.
1

phili*prime!j||=phili|/*(prime[j | -1);

int i=1;i<=maxN;i++)phii[i|=((LL)i*(LL)phi[1i])%MOD;
int
i=1;i<=maxN;i++)pre(i/=((LL)preli-1|+(LL)phili])%MOD,phii[i/=((LL)phii[i-1]|+

LL)phii[i])%MOD;
_int128 sqrt3(  intl128 N

__int128 1=0,r=1e9;
r-1>

_1int128 mid=(1+r)/2;
mid*mid*mid<N) l=mid;

r=mid;

rrr¥r<=N) ? r : 1;
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int main

calc();
scanf("%sd",&T) ;
T--

n=read/( ) ;
sgqrt3N=(int)sqrt3(n);
~1nt128 ans=0;
int d=1;d*d<=sqrt3N;d++
sqrt3Nsd==

ans=(ans+(n/d-
~1nt128)sqrt3N*(  int128)sqrt3N*( int128)sqrt3N-1)/d)%sMOD*phi|d] ) %MOD;
d*d!=sqrt3N
int t=sqrt3N/d;

ans=(ans+(n/t-
_int128)sqrt3N*(  int128)sqrt3N*( int128)sqrt3N-1)/t)%MOD*phi|[t|)%MOD;

int 1=1,r=0;1l<=sqrt3N-1;1l=r+

int x=(sqrt3N-1)/1;

r=min(sqrt3N-1, (sqrt3N-1)/((sqrt3N-1)/1));

LL tmpl=(phii|[r]-phii[l-1]+MOD)%MOD,tmp2=(prelr]-
pre[1l-1]+MOD)%MOD;

ans=(ans+tmpl* (LL)inv2%MOD*x%MOD* ( x+1)%MOD* (2*x+1) )%MOD;
ans=( (ans+tmp2* (x+1)%MOD*x%MOD*1inv2%MOD*3%MOD ) %MOD+x*tmp2%MOD ) %MOD ;

cout<<(LL)ans<<endl;

HRERERE

0~1h fyhO O O 15min,hxmO EQwxgO AD[JfyhOD ED O O CE+REJU O 00 00O 0O 0O O O WA wxg&hxmO
OFB

1~2hfyhO OO OE hxmOMOLfyhO O O EQwxgd O O F

2~3h fyhOKIL,OhxmO OLOOOOOOOOIOOQwxgAFhxmO OOMOOOODOOOODOOOOO
O00OQ0wxgOOOOE

3~4h wxgAE fyhOKO OO O ool

4~5h wxg,hxmO OBO OO OO OO OOQOfyh&hxmO 10 O
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O00wxgd O dd

oo
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